Solutions to Assignment #1
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3. (a) The subrectangles are shown in the figure. Since A4 = 72 /4, we estimate y
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11. z = 3 > 0, so we can interpret the integral as the volume of the solid S that lies below the plane z = 3 and above
the rectangle [—2, 2] x [1,6]. S is a rectangular solid, thus [, 3dA =453 = 60.
3)

18 2= f(z,y) =4—2y > 0for0 < y < 1. Thus the integral
represents the volume of that part of the rectangular solid
0, 1] x [0,1] x [0, 4] which lies below the plane z = 4 — 2y.
So

Jlr(4=2y)dA = (1)(1)(2) + L(1)(1)(2) = 3




